14. In braze welding the filler material is

a. Distributed

b. Melted

c.Bothaandb 3. None of the at

15. Amount of current necessary in resistance welding is of the order of

16. In the relation for cutting tool life VT-=C, the numerical value of n for high speed steel
tools vary in the range of

a.0.1100.15 b. 0.20 1o 0.2¢

c.0.2510 .40 1. None of the

17. In a turning operation the tool life of the carbide tool was found to be 20 minute and 100
minute at cutting speeds of 120 m/min respectively. What will be the tool life of the tool under
the same condition but at a cutting speed of 100 m/min?

a. 31 minutes b. 41 min

18. Product layout is known as

alytical layout b. Synthet

19. In which of the layout, similar operations are performed at the same place always

a. Process lay

c. Combination layout 1. Fixed pasitio

20. Which of the following types of flames has a supply of excess of acetylene as compared
to oxygen?

a. Oxidizing flame b. Neutr

c. Carburizing flame

21. Directional solidification can be achieved by providing

a. chills and chaplets C naplet

c. chills and padding 3. Chilis, Chapiets and padaing

22. Rolling very thin strips of mild steel requires
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(Ans:d)

In which of the following processes, the shape of tool is not same as that of cavity produced?

a. Ultrasonic N

b. Electrica g
c. Elect g
i. Plas ning

(Ans:d)

In which of the following processes, a nozzle is used?
i Plasma arc machining

~ Machinina

il Ultrast

(Ans:c)

In which of the following gases is not used in Abrasive jet machining

8 Air
b. Nitrc
c. Carbon di-oxide
d. Argor
(Ans:d)

1. In an orthogonal cutting, the depth of cut is halved and feed rate is double. If the chip
thickness ratio is unaffected with the changed cutting conditions, the actual chip thickness

will be
a. Doubled b. Halved
¢. Unchanged 1. None of the at

2, Cast iron during machining process produces

a. Continuous chips 0. U Df
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al'broaching bl sawing Clreaming dl none of thern
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a) blade sawing b} Milling €) reaming d] hacksawing
40; the following figure refers to ... . manufacturing process I

-

= ]
: a) Planning b) turning milling d) shaping (\
B manufagturing process A
N
&
a) shaping b) turning ¢ ) planning g
42. Taols made up of carbides are extremely hard having Rockwell hardness varying from - L3
a) ‘0—13 HRC h] 90—983 HRC ¢} 10—23 HRC - d) 590—993 HR( W_'
43 The most common drill material is \'
a) High speed steel biCeramic tipped c) Diamond d} carbid -?
44, Which of the following materials has the hghest machienability index i:
a) Steels b) Copper ¢) Magnesium d) Aluminum |-
45. A cutting fluid should have =
a) High conductivity b) low toxicity ¢) high thermal capacity d} all of them |
46. in abrasive jet machining the grit size is of an order of
a)15 micrometer b)15 milimeter ¢)15 centimeter d) 15 meter
47. The nozzle part of the water jet machining is macde of
a) tungestun carbid or sapphire b) aluminum c) steel d) coppe

48 which of the following is not true for the abrasive jet machining
a) Low capital cost b) low vibration ¢) high metal removal rate d) no heat is generated in'work piece
49. which of the following material cannot be cut with water jet.cutting
a) metals b) glass ¢) composites  d) plastics
0. the following figure refers to ... manufacturing process

al EDM b} PLASMA arc ] ultrasanic d) abrasivs




8. The powder metallurgy technigue for the product of precision component is characterized

mainly by reduction in

c t d.} 1h e
9. Magnetic arc blow is
a. A recent weldin Ju Jsed v =

c. Phe!

d. None of the ab

11. Process of extrusion is like

a. A viscous lubricant pouring the mouth of container
b. A tooth paste coming out of its tube
c. Hard particles thrown out of a3 nozzle under air pressure

None of the above

12. Material good for extrusion is

a. Stainless st

c. Low carbon annealed stee i None of the at

13. The method most widely used for production of metal powder for use in powder

metallurgy is

a. Liquid metal ay r ] 3
c. Electrolytic deg ) 1. None of the a
14. In braze welding the filler material is
a. Distributed by capillary actior
b. Melted and deposited at the " 1 s
11 £+ 19
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28. Consider the following statements:

The tool life is increased by

built up edge fo

J. Increasing bac

Which of these statemer

29. Consider the following mechanisms:

Kack ar

Geneva ¢

30. Consider the following statements in respect of a grinding wheel of specifications, 51-A-

36-L-7-R-23, using the standard alphanumeric codification:

1. Abrasive used

in the wr UM xige P r = 3 e IS
medium
3. The wheel grade is hard 4 lthas a e st
bond ager
Which of these statemer -
al,Z2ang 3 L 3and 4 2 an 5 i1.4and5

31. Which of the following are produced by slush casting?

a. Hollow castings wit

¢. Thin castings d. Thick castir

32, Which one of the following welding processes consists of smaller Heat Affected Zone
(HAZ)?

d. ATC'W

ding b. Electron be

c. MIG welding i. Thermit we

33. Gear shaping is a process of manufacturing gears. Which one of the following principles

is employed by it?
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4} Counter sink tool b reamer
L6, drill taal material used for high production and CNC maehin
) H55 Ll arbide tipped drills c) low carbon stee d} all of them

17. Aperipheral millj 18 operation is performed on the top surface of arectangular workpart which is 800 mmiong by 68 mm wide. T
milling cutter, which it 80 mm in diameter and has five teeth, overhangs the width of the part on both sides. Cutting speed = 70 m/m
chip load =0 25 mimj/tooth. and depth of cut = 5.0 mm. the feed rateis

3] ' 4 rvm a s i " i
3) 483 mm{min b)843 mm/min ¢) 348 mm/min di 438 mrmy/ min

18. Built up edge can be reduc ed by
4l Increase depth of cut b) decrease the rake angle ¢) Bath:aand b d) use effective cutting fiuid

'-.I A 3 B

. As the lead angle increases the undeformed chip thickness
d] Increases bl don't affected ) décreases d) nane of them

g & 1 Y A .
whot the axis of cutter rotation is parallel to the workpiece surface
alslab m & | .

Islab milling b) ball milling c) end milling djface milling

In Miling pre Hess, Max Chl|.3' thickness s at the end of the cut

VYV all ¢ | - - i
<) bali "“'“n}-; ) down !'I!I"IJ'IH c) end Hl1||'.[‘.!.2: d) up fﬂ|:|1l'1p

B} — i 5 ot S [

<Z. one of the foilowing is not true for the upmilling process
d] CULting process is smooth b) tooth engagement is a function of workpiece surface characteristics, and contamination or sc
the surface affect tool life cltendency for the tool to chatter dinone of them

13 Hpr s of the ra r Wig ’ rac il i i {

<3. because af the resulting high impact forces when the teath engage the workpiece, this operation must have a rigid setup, and
backlash must be eliminated in the table feed mechanism in .

d) ball milling

milling process

b) end milling ¢} down milling
milling process can produce a variety of surfaces at any depth, such as curved, stepped, and pocketed.

Hup milling

a) end milling b) down milling ¢} up:milling d) referral milling
in milling process the problem of burr formation may be related to

c) feed and depth of cut too high d} all of them

| incorrect entry and exit angles b)) dull cutting edges
26. the component that supports the table and can move in the transverse direction is usually called
d} knea

al saddle b) overarm ¢) compound wrest

one of the following is not true for the material removal processes compared to forming

¢) bad dimensional accuracy d) straight edges and surfaces

a) waste of material b) time consuming process
28, Which of these statements are correct? built up edge may be reduced by:
1. decreasing depth of the cut 2. Increasing cutting velacity 3. increasing back rake angle
all 2and?3 b)1and?2 c)1and3 d) 2 and 3

*A turning operation is made with a rake angle of 10°, a feed of 0.010 in/rev and a depth of cut = 0,100 in. The shear strength of

material is known to be 50,000 Ib/in’, and the chip thickness ratio is measured after the cut to be 0.40. Answer guestions 29, 30

32.
29. The shear angle is :
a) 29.2° b)22.9" c)92.2° d)9.22°
30, The sheer force is
a)812Ibb) 182 Ib c}8211b d) 128 b
31, the cutting force is $5nt
a)6321b b)326 |b c)6231b d) 236 Ib
32. the thrust force is |
aj922 b b)129 b c) 22581b d) 22 1b . .
*Tool life tests in turning yield the following data: (1) when cutting speed is 100 m/min, tool life is 10 min;
(2) when cutting speed is 75 m/min,tool life is 30 min. Answer questions 33,34,and 35 using Taylor equation
33, the value of the exponent nis |
b) 0.2618 ¢) 06218 d) 0.8216

34. the value of the constant Cis
a) 287.15 b)182.75

c]157:82 q)578.12



38. Which one of the following is not an electric resistance method of welding?

slag w

39. In one setting of rolls in a 3-high rolling mill, one gets

a. one reduction in thic

c. three reductions in thickness i. two or three reductions in thickness depending upon the

setting

40. At room temperature, which one of the following is the correct sequence of increasing
hardness of the tool materials?
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